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1 0JO0O0Oooooono

00 6z (x=1,2,3,4) 00000 COOD0OD0O0O0DO0O0O0OO0OOOOODOOOODOOOOO
ddoduobobobbbboo0oogubobbbbbUUd bisection.c, newton.c OO QOO
goood

goooooooooo

waltz21% cp bisection.c kadai6-1b.c
waltz21% cp newton.c kadai6-1n.c

0000000 kadai6-1b.c, kadai6-1n.c 000 (00D00D0D000D0OO0D0OODOOOOO
00000) 0000 mule000O00OODOODO

(jwaltle% mule kadai6-1b.c & tj

000000 0dUd bisection.c,newton.c UO O OOOMO

waltz21% cc -o kadai6-1b kadai6-1b.c -1m
waltz21% ./kadai6-1b

2 JO0bOboOoOobboobobuoooboobg
OO0bOOoO0O0Og 61000000000

(1) (DDODDOO0ODDDO00) bisection.c 0 main(), 1) 000000 DDDO0O00O000O0
00 fO) 00000000000000000 (pein() 000000000000000
0oo0..)o

(2) (00D0DO0D0000000000) newton.c 0 main(), £(), dfdx() 0000000000
0000000 £(0,dfdx() 0000000000000000 (dfdxO) 0 foooo f
00000 CcOoOo0)o



3 0O e6-2000000

(1) vaDDOO 22—e=0000000000

(2) YaDDDOO 2*—-a=00000 2°—-a/x=0000000000

(3) vaDDDOOOOOODDDODDDO sqrt(a) 000000D0DOO

(4) YaDDODDODOOOOODDDODO pow(a, 1.0/3.0) 0000D0O0DOOO
(5) sqrt ), pow() 00DDOOOOO0O0O0O0O0DODO

(a) 00000000000 #include <math.h> 000000000000 00OO

(b D0DO0DDO0O0UO0O0DO0DOODDOODOODODOOODOOOD -lImO0000
gogoood

(6) sqrt ), pow() 00D DODDOODDOODODODDOODOODOOOODODODOOOOO

[waltzQ 1% man sqrt j

gooo

[waltz21% xman & ]

0000 section 3m OO OO

4 00 63000000

(1) arcsina 0000 sinz —e=000000000 (DO0O0OO0ODOODO)O

(2) arcsina 00 000000000000 asin(a) 00000000 (DODDOODO)O

(3) 000 sinx—e=00000000000000000 (DODOOOOO)O

(4) asin(), acos(), atan() 000000000 ODOOO0O0OODDOOOO sqrt(), pow() O
googgo

5 doe-4000000

(1) 00000000 (0000000)000000 6z (x=1,2,3)00000000000
000000000000000000000000000000

(2) Mathematica 00000000000 ...



flx_,y_l:={x"2-y"2+x+1,2 x y +y}
Df [a_,b_] :=Module[

{x,y},

Transpose [{D[f [x,y],x],D[f[x,y],y]1}] /. {x->a,y->b}
]
{x,y}={1,1}

Do[{x,y}={x,y}-Inverse[Df [x,y]].f[x,y];

Print [{x,y},"=",N[{p,q},20]],
{6}

]

o

ggoooooobobbobbobbboboooooooouogog

fl{x_,y_}:={x"2-y"2+x+1,2 x y +y}
Df [{a_,b_}]:=Module[

{x,y},

Transpose [{D[f [{x,y}],x] ,Dlf[{x,y}],y1}] /. {x->a,y->b}
]
xk={1,1}

\\Do[xk=xk—Inverse[Df[xk]].f[xk]; Print [xk,"=",N[xk,20]], {6}]




